
Laplace Problem #3 
 
 
In the circuit below, R = 4 kΩ and C = 1 uF.  The network is assumed to have no energy 
stored at t =0- 
 
 
 
 
 
 
 
 
 
 
 

a) Find the network function H (s) = Vout (s)
Vin (s)

 

 
b) Find the impulse response h(t) 
 
c) Find the step response using both the inverse Laplace method and the convolution 

method. 
 
d) Find the response of this network when vin (t) = 3e−4x10

3 t( )U(t)[V]  using both the 

inverse Laplace method and the convolution method 
 
e) Find the response of this network when vin (t) = 2cos(2 *10

3t)U(t) [V]  using both the 
inverse Laplace method and the convolution method 
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